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Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry 10 marks.
3) All questions have internal options.
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Q1) Answer any five of the following(2 marks each) : [10]

a) What is single citizenship as per constitution of India?

b) What do you mean by Multi-National Corporation(MNC)?

c) When a person is considered below poverty line in India?

d) Define ‘Economic Planning’.

e) Explain the concept of public private partnership.

f) Population is a vital resource- Justify.

g) What is Unitary Approach of industrial relations?

h) Explain the meaning of globalization of brands.

Q2) Write short notes on Any Two of the following (5 marks each) [10]

a) Inter dependence of business and society.

b) Measures to remove poverty in India.

c) Features of Globalization.

Q3) Answer any one of the following(10 mark each) [10]

a) Discuss the characterstics of constitution of India.

b) Elaborate the causes of poor industrial relations in India.
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Q4) Answer any one of the following (10 mark each) [10]

a) Explain the different causes of economic inequality in India.

b) Discuss the problems involved in BOT(Build, Operate and Transfer)
Model.

Q5) Answer any one of the following (10 mark each) [10]

a) Describe the disadvantages of Multi-national Corporation(MNC).

b) Elaborate the positive effects and negative effects of globalization in
India.
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